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<f>x=2.y=-3 N E, 3x — S5y D{E*KDHS
3x — By = 3X2 - 5X(-3) = 6+15 = 2|
<Pl>x=-3.y=4 DrE, 4x + 2y -b6x -5y D{EZ KD
4x + 2y -6x -Bby = -2x -3y = -2X(-3)-3X4
= 6-12 = -6
<fFI>x=-1.y=2 DrE, 3x2y X (-2x) DE2KDHS

3x2y X (-2x) = -6x3y = -6X(-1)3 X2 =12
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(1] SROBNICEZLE,

(1) x=4.y=-2 Dr%, 3x+2y DELRHLI, (
(2)x=-2.y=3 Dr%E, -x+2y-3x+T7y OfEEZRHLI, (
() x=-2.y=-3 OrE, 2xyX (-4xy) OEEKRHEIV, (
(4)x=5.y=-4 DrE  8x3y?+(-5x%y) DEERHEI, (

3
(5) x=- Z\y=2 DEE, -Uxy?+ | b6xyX8x DEEZRHILI, (

(6)x=-2.y=5 OrE, 2(2x-3y)+4y OEEZRHIRIV, (
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